128 THERH=MEASHE

ouT | N
P2 E= TH &8 HE 5 NEF (&2 07:30
Fafx T Bl =R B = 0737
BN BT 0745 |[BE &R
IRE8 BARAY FH =R AL 75 B73 =X 0752 |tkHHhE—
= Bz B &4 EREB L B 0800 |mfE fEER
(HIZERY.N 0807 |MA Bt
REF 188 0815 |#Af3 YT
AR &t 0822 |fMME &1 B T8 B =i = E—
= o J\B £F YA FE 2w 08:30 |hoik 0%
KX & 0837 |l IEZ
e R FB BE alll B— AFH 232 0845 |Eeh<F #hf®
= Hab BB FT =i WHE 7afg F0EX 08:52
g8 Bk B f2 St BBF 09.00 |t&%y IEix
B EARR M =78 B BRiE B BF 09.07 |MAK —IE g BT 7aE B— mE ¥
S8 B BR #0:2 HE fRB 0915 |AM &g ERAN 1B &R #5868
BE ®F BE EX el fuF £ BT 0922 |BlIF &0
B2zR B S5 Ml 1BEF BAK 0930 |BlIF &0
B 'S 09:37 |Xx¥H FE8I e R BX, £33 =
EE %86 0945 |BK —K BRE (B 1BE [EE
it T 0952 |HRW = {2 =] me B T B=
AR E—88 10.00 |RW 5
=B Bl 1007 | —z
1015 @ —2
ShH? Bz BE8 D2 7afE B 1022 | —z
E2) INBY i RE ~N—EB )il E—8B 10:30




